Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

28 ,4 + 4 =
49 ,5 + 6 =
334 ,8 + 9 =
38 ,36 + 7 =
1,648 + 8 =
4,92 + 2 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

16 ,88 + 2 =
3,609 + 3 =
124 ,08 + 4 =
47 ,28 + 4 =
16 ,64 + 8 =
49 ,84 + 7 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

42 , 10 + b =
32,32 + 2 =
482 , 4 + 3 =
115 .2 + 4 =
445 , 9 =+ 7 =

2,936 =+ 8




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

b3 ,94 + 2 =
128, 4 <+ 6 =
0,375 =+ b =
0,084 + 4 =
0,729 =+ 9 =

0,288 + 3 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

16,8 + 3 =
4,302 + 6 =
645 ,5 + 5 =
158 , 7 + 3 =
42 ,8 + 4 =

b4 12 + 2 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

439 2 + 6 =
29,47 + 7 =
321, 5 + b =
85,44 + 8 =
15,76 + 4 =
b3 ,24 + 2 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

75,06 + 6 =
3,123 + 9 =
452 , 7 + 3 =
10,78 + 2 =
326 ,4 - 6 =

0,370 <+ b




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

0,567 « 7 =
0,945 + 3 =
578 ,7 + 9 =
0,175 + 7 =
4,676 + 4 =

18 ,28 + 8 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

76 ,44 + 2 =
25,68 + 3 =
/58 , 8 + 7 =
89,4 + 6 =
8 ,6b + b =
3,18 + 2 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

9, 224 + 8 =
97 ,53 + 3 =
688 ,2 + 6 =
B8 , 74 + 3 =
33,11 =+ 7 =

7,154 = 2 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

86 ,87 + 7 =
45 , 76 + 4 =
123 ,3 + 6 =
37,8 + 9 =
10 ,45 -+ b =
b5 ,52 + 8 =




Division d'un nombre
décimal par un nombre
entier.

Pose et effectue les divisions suivantes.

39 ,66 + 4 =
1,008 + 9 =
578 , 4 + 8 =
9,88 + 5 =
34 32 -+ 6 =

58 ,88 + 4 =




I  — [ 1 |
N SR L Lo
|
L L L L L
R | R
i
v 1 i
. | ll | ]| l| B ]
Lot Lo
(o
L]
------ v —_—
YRR R
IR I
1 : R
L a0
v ........ v
[ | | | 1 | 1 | 1 |
Cotr e C N
]
L 1L L . Lo
R | IR
i
i
' 1 l I
T lx II ’a || I| ’I l| |
| :I :| :l Lo
(I I
-------------- v A 4
| 11 1 1
i '] Lo
T T
o R
vl ] 4




|
—_--a

|
—_--a

[
—_ - a




